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11. It is sometimes useful to be able to write an equation of a plane in terms of its

intercepts. If a, b, and ¢ represent the x-, y-, and z-intercepts, respectively,
. . . v e
then the resulting equation is i tyto=1

a. Determine the equation of the plane that has x-, y-, and z-intercepts of
3. 4, and 6, respectively.

b. Determine the equation of the plane that has x- and z-intercepts of 5 and
-7, respectively, and 1s parallel to the v-axis.

¢. Determine the equation of the plane that has no x- or y-intercept, but has a z-
intercept of 8.
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